H & 0l & AHS B Ml A

20233 = =0llah LB Atel HZ M

SA: AR EZ

33 ARIEBN gdat
CHel: AR ZEH 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
INEEIRS DN I 9,660,810 11,801,957 A2,141,147
= 310,000
[ 3,081,100
= 646,068
Al 5,623,642
el M3 N gdat 3,220,502 4,493,980 N1,273,478
AR M 243t 3,209,502 4,482,980 A1,273,478
AR EZH 2483 K& 84,700 97,000 212,300
201 2egh=3| 82,000 82,000 0
01 At2t2ltl 60,000 60,000 0
OMIHBMAE 243 ASXI& 60,000
2 s5=34l 22,000 22,000 0
OE=A2IAUB M KNLEFEH 3 & =
as NYEFEs fg= 22,000
203 =4l 2,700 15,000 212,300
03 A= PR FZ| 2,700 15,000 A12,300
OAMIHBMAIY gdst =& 2,700
Al AR EHEMXRAME 29 X2 240,802 439,980 A199,178
307 elztol & 240,802 439,980 A199,178
05 2ItRIE =2 240,802 439,980 A199,178
O Al ALRIHBHAME 2 X&H 240,802
AR EBH ARE 2 20,000 20,000
201 et23| 12,000 12,000
01 At22te|Hl 12,000 12,000
OArIXHEHN S ?da d4+¢ 12,000
301 EetE NS 8,000 8,000
11 #AIAHIXIE S 8,000 8,000
OA2IHEM, s73M A2 &dl 24 8,000
S=3N gds X& 14,000 17,000 23,000
201 2egh=3| 5,000 5,000 0
01 At2t2lt] 5,000 5,000 0
O=/EsIt, S7HM, JIg #ds 29 5,000
307 elztol & 9,000 12,000 23,000
02 2B YAIHE X 9,000 12,000 A3,000
OS=3 N At =AEH, )1 XNE € X
ZAE S22 9,000
HFAl AFSICIOH AA0tE =G (ARIEBH RS 200,000 0 200,000
E)
401 AIEHIZ SR HYI 200,000 0 200,000
01 Al&HI 200,000 0 200,000
J(‘l;‘:/\l /\}ilodllH ALY =M (AR RE
M SSXI2HH) 200,000
HFAl ALSIOITY &0tE 2 (E8E X2 EH) 2,650,000 0 2,650,000




SA: AR EZ

=

33 ARIEBN gdat
Sl ARIREN 245t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 2,650,000 0 2,650,000
01 Al&H| 2,650,000 0 2,650,000
OTFA MBS AM0IY X8 (SBXE
HIE) 2,650,000
SYRY 243t 11,000 11,000 0
SR 243 A2 11,000 11,000 0
201 et 3| 5,000 5,000 0
01 At 2|l 5,000 5,000 0
o=32% 243 XA 5,000
307 212+01& 6,000 6,000 0
02 2B HAHE L 6,000 6.000 0
OSHFRS it SHFH MEHE &4 6,000
A2l HB R |g = 5,005,970 5,469,300 A373,330
= 310,000
= 3,081,100
< 542,068
Al 1,162,802
ARl HERES |4 5,005,970 5,469,300 A373,330
= 310,000
[ 3,081,100
= 542,068
Al 1,162,802
o= |4 50,000 60,000 10,000
= 25,000
= 7,500
Al 17,500
307 lztol & 50,000 60,000 10,000
= 25,000
== 7,500
Al 17,500
02 LB HANHEE 50,000 60,000 10,000
oor=21g N0l &7, XS, D=3 50,000
= 25,000
=S 7,500
Al 17,500
OEJ1e DC3tAr 50,000 40,000 10,000
< 25,000
Al 25,000
307 glztol & 50,000 40,000 10,000
= 25,000
Al 25,000
02 2IZHBYAIHE A 50,000 40,000 10,000
O0I=71Y N3t 50,000




2A:

X XH -
o=

At = B Xl ot
ARIEHZ D=

ol AlRIEERES |4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 25,000
Al 25,000

01 APRE KA 68,040 73,800 Ab,760
= 31,140
Al 36,900

307 gl2to| & 68,040 73,800 N5, 760
=S 31,140
Al 36,900

02 QB HANEER 68,040 73,800 Ab,760
Obt=71eg AMRE XA 68,040
< 31,140
Al 36,900

LRI FHEAE (ARIEI1Y) 2,932,400 2,730,000 202,400
= 2,199,000
== 220,100
Al 513,300

307 212+01& 2,932,400 2,730,000 202,400
= 2,199,000
=S 220,100
Al 513,300

02 QB HANSEER 2,932,400 2,730,000 202,400
OARIHIIY S4(2RFE, H2019) 2,932,400
[ 2,199,000
= 220,100
Al 513,300

AN HI X2 A (ALSIZD 1) 443,000 350,000 93,000
= 310,000
= 53,300
Al 79,700

307 gl2to| & 443,000 350,000 93,000
= 310,000
= 53,300
Al 79,700

02 2B YAIHE X 443,000 350,000 93,000
OAtRAXHIIE AR 443,000
= 310,000
< 53,300
Al 79,700

ABI2E2 X (AFRIED1) 380,000 380,000 0
= 285,000
< 28,500
Al 66,500

307 lztol & 380,000 380,000 0
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At = B Xl ot

33 ARIRBHDIER S
ol AlRIEERES |4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 285,000
=S 28,500
Al 66,500
02 QI AHANEER 380,000 380,000 0
OA2IHD Y A28 380,000
[ 285,000
= 28,500
Al 66,500
ARIEBMIIE BSXE 5,000 5,000
201 et 3| 2,000 2,000
03 A2 I 2,000 2,000
OAIHZN=A HEE 2,000
301 EtEE S 3,000 3,000
11 dALEEIXIE S 3,000 3,000
O3dE MIZHZX &H X3 3,000
ARIHZH FE HAor X2 1,098,960 1,660,500 A561,540
= 572,100
< 168,058
Al 368,802
307 glztol & 1,098,960 1,660,500 A561,540
= 572,100
== 158,058
Al 368,802
02 LB HANHEE 1,098,960 1,660,500 A561,540
OABIEB M H#E SHA0F X (Q1148]) 814,320
= 452,400
=S 108,576
Al 253,344
OABIEZH A A X (QHEIE) 239,400
= 119,700
=S 35,910
Al 83,790
OARIHZ M 3 4D X2 (1 SHl) 45,240
< 13,572
Al 31,668
=38 A2l |2 7,000 50,000 43,000
201 Ler=23 | 7,000 50,000 /43,000
02 S3=4gl 7,000 50,000 243,000
OHF=HY A&l 72 7,000
MBI EZH elZet XA 61,570 120,000 /58,430
== 18,470
Al 43,100
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SA ARSI HF R
33 NgssH gdat
ool ZEXN |4 (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 20,000 20,000 0
OU=SSHOILIo WS A 20,000
307 elzto| & 20,000 20,000
02 2B YAIHE A 20,000 20,000
OUt==sSHOILIN 54 & g4zt At 20,000
HFAQEH 2det A2 A 60,000 60,000 0
201 et 3| 50,000 60,000 10,000
01 AtR2te|Hl 10,000 20,000 10,000
OXFAIQEE 43 X2 A 10,000
03 A= &I 40,000 40,000 0
OXFAILHH 243t N2 A 40,000
301 EtE N = 10,000 0 10,000
11 #AIMHIXIE S 10,000 0 10,000
OHFAILHH 243t N2 AY 10,000
== SSHctlie 843 At 20,000 20,000
307 @I2to| & 20,000 20,000
02 QB HANEE R 20,000 20,000
Od =+ SSH2 8435t 20,000
= MISSsSHOIOH 243t At 40,000 40,000 0
< 20,000
Al 20,000
307 glztol & 40,000 40,000 0
= 20,000
Al 20,000
02 2IZHBYAIHE £ 40,000 40,000 0
o= Ot=Z2sHOICIH 243t A 40,000
= 20,000
Al 20,000
sE0ls SSHAE 10,000 10,000 0
< 4,000
Al 6,000
MAMOISRHSI| AF(DI=E) 10,000 10,000 0
& 4,000
Al 6,000
307 elztol & 10,000 10,000 0
= 4,000
Al 6,000
02 2IZHBYAIAE & 10,000 10,000 0
OMMOISSI MS(OI=EAH) 10,000
= 4,000
Al 6,000
AH2SIHI(ABI RSB 36,704 61,688 N\24,984




2A:

A2l 2 3 Xl ot
OH

S HY2AAH|I(AIZ =G H D)
Chol: J|= 2| (AIBIH 2 H D (ol a2
SA - B GR(31) - HIRAY - BES il &k e HlmS2

JI2ZHI(AtSI =2 R 36,704 61,688 A24,984

J12ZHI(AtSI HZ M) 36,704 61,688 A24,984

201 2| 21,608 32,688 211,080

01 Ar22eltl 21,608 32,688 211,080
OgBt===H| 11,200
O=gl 9,408
o2gsY 1,000

202 04d| 12,096 22,100 A 10,004

01 2LHO LI 12,096 22,100 210,004
OJ|2HRFA0I 12,096

203 ZR =& 3,000 6,900 A3,900

M FA2IHRFALI 3,000 3,600 A600
ORANM2ILRFAHI 250,000 123 3,000

HRES (A HE ML) 400,000 400,000 0

LIS HN XIS (AS ZH A A 1) 400,000 400,000 0

MIHZHESS JI2 KN (ASEZH D) 400,000 400,000 0

R IISEEZ 400,000 400,000 0

01 JI13HES 400,000 400,000 0
OMEBMEALS D8 XN& 400,000




